TECHNICAL SPECIFICATIONS - CHASSIS 640 DUKE Il 2003

Frame Central chrome-moly-steel frame
Fork type. .. WP 4357 ROMA  0518X732
wheel travel. . ...... .. .. . o 140 mm (5.5 in)
standard adjustment compression ... ......... driver only = 14,  with passenger = 14
standard adjustment rebound .. ....... ... ... driver only = 16, with passenger = 16
fork leg projection upper fork bridge . . ... ... .. 3 mm (0.12 in)
oil capacity per forkleg .................... appr. 400 ccm (24 cubic in) / SAE 5
air chamberlenght. . .. .......... .. ... ... .. 100 mm (4 in)
Rear suspension WP central shock absorber with PRO-LEVER linkage to rear- swing-arm with needle bearing
Shock absorber Y. WP central shock absorber BAVP 4681 0118X728
rear wheel travel .. ....... ... .. ... .. ... 170 mm (6.7 in)
standard adjustment compression ... ......... driver only = 3,  with passenger =5
standard adjustment rebound .. ......... .. .. driver only =5,  with passenger = 3
springpreload. ............ .. driver only =23 mm (0.9 in),with passenger = 28 mm (1.1 in)
springtype . ... .. 70 - 260
Front brake Disc brake with carbon-steel floated brake disc @ 320 mm (12.6 in) and 4-piston brake caliper
Rear brake Disc brake with carbon-steel brake disc @ 220 mm (8.7 in) and single-piston brake caliper floated
Tyres front: 120/70 R 17 58H rear: 160/60 R 17 69H
Air pressure rider only 2.0 bar (29 psi) 2.2 bar (32 psi)
Air pressure with passenger 2.2 bar (32 psi) 2.4 bar (35 psi)
Fuel tank capacity 11 liters (2.9 US gallons), out of this 2.5 liters (0.6 US gallons) reserve
Final drive ratio 16:38
Chain X-ring 5/8 x 1/4"
Lamps lowbeam ...... .. ... .. ... L. HB3 12V 65W (socket P20d)
highbeam........... ... ... ... .... HB3 12V 65W (socket P20d)
parking light ....................... 12V 5W (socket W2,1x9,5d)
speedometer, tachometer light ... ... ... 12V 1,2W (socket W2x4,6d)
indicatorlamp .. .......... .. L 12V 1,2W (socket W2x4,6d)
stop and taillight . . .................. 12V 21/5W (socket BaY15d)
flasher. . ... ... ... .. . . 12V 10W (socket Ba15s)
Battery maintenance-free battery 12V 8Ah
Steering angle 63.5°
Wheel base 1460 + 15 mm (57.5 = 0.6 in)
Seat high 900 mm (35.5 in)
Ground clearance 270 mm (10.6 in)
Dead weight without fuel 149 kg (329 Ibs)
Max. permissible front axle load 150 kg (331 Ibs)
Max. permissible rear axle load 200 kg (441 lbs)
Max. permissible laden weight 350 kg (773 lbs)




TIGHTENING TORQUES - CHASSIS

Collar nut front axle M17 40 Nm (30ft.Ib)
Collar nut rear axle M20x1.5 80 Nm (59ft.Ib)
Shock absorber bolts top M10 45 Nm (33ft.Ib)
Shock absorber bolts bottom M10 45 Nm (33ft.Ib)
Collar screws brake disk front + rear M6 Loctite 243 + 10Nm (7ft.Ib)
Bolts brake caliper front M8 Loctite 243 + 25 Nm (19ft.Ib)
Allen head bolts brake caliper front M10x1.25 Loctite 243 + 45 Nm (33ft.Ib)
Allen head bolts brake caliper support rear M10 50 Nm (37ft.Ib)
Bearing bolt linkage arm/frame M12 60 Nm (44ft.Ib)
Collar nuts rocker arm bolts M14x1.5 100 Nm (74ft.1b)
Engine mounting screw M10 45 Nm (33ft.Ib)
Ball joint for push rod M8 Loctite 243 + 25 Nm (19ft.Ib)
Sprocket bolts with nuts M8 Loctite 243 + 35 Nm (25ft.Ib)
Collar nut swing arm bolt M14x1.5 100 Nm (74ft.Ib)
Clamp bolts for top triple clamp M8 20 Nm (15ft.Ib)
Clamp bolts for bottom triple clamp M8 15 Nm (11ft.Ib)
Clamp bolts for fork stubs M8 10 Nm (7ft.Ib)
Collar nut for eccentric chain adjuster M10 40 Nm (30ft.Ib)
Bolts, handlebar clamp M8 Loctite 243 + 20 Nm (15ft.Ib)
Allen head bolts handlebar support M10 Loctite 243 + 40 Nm (30ft.Ib)
Other screws on chassis M6 10 Nm (7ft.Ib)

M8 25 Nm (19ft.Ib)

M10 45 Nm (33ft.Ib)
Other collar nuts on chassis M6 15 Nm (11ft.Ib)

M8 30 Nm (22ft.Ib)

M10 50 Nm (37ft.Ib)




	Clutch lever 
	Hand decompression lever 
	Choke lever 
	Hand brake lever 
	Speedometer 
	Tachometer 
	Indicator lamps 
	Ignition lock with 3 switch positions
	Combination switch 
	Starter tip switch, emergency OFF tip switch, light switch
	Filler cap 
	Fuel tap 
	Shift lever 
	Kickstarter 
	Foot brake pedal 
	Compression damping of fork 
	Rebound damping of fork 
	Compression damping of shock absorber
	Rebound damping of shock absorber
	Seat lock 
	GENERAL TIPS AND WARNINGS FOR STARTING THE MOTORCYCLE
	Instructions for initial operation
	Running in  

	DRIVING INSTRUCTIONS
	Check the following before each start
	Starting when the engine is cold
	Starting when the engine is warm
	What to do when the engine is „flooded”
	Kickstart instructions 
	Starting off 
	Shifting/Riding 
	Braking 
	Stopping and parking 
	Refueling 
	Activating the ignition curve for low-octane fuel

	PERIODIC MAINTENANCE SCHEDULE
	MAINTENANCE WORK ON CHASSIS AND ENGINE
	Removing the seat 
	Supporting strap for the passenger
	Tool kit 
	Checking and adjusting the steering head bearing
	Bleeder screw front fork 
	Cleaning the dust sleeves of the telescopic fork
	Changing the spring preload of the shock absorber
	Checking the rubber ring of the rear shock absorber
	Lubricating the shock absorber linkage
	Checking chain tension 
	Correcting chain tension 
	Chain maintenance 
	Chain wear 
	Maintaining chain tension eccentrics
	General information about KTM disc brakes
	Changing the basic position of the handbrake lever
	Checking of brake fluid level - front brake
	Refilling the front brake fluid reservoir
	Checking the front brake pads 
	Changing the basic position of the foot brake pedal
	Checking the rear brake fluid level
	Refilling the rear brake fluid reservoir
	Checking the rear brake pads 
	Dismounting and mounting the front wheel
	Dismounting and mounting the rear wheel
	Checking the damping rubbers in the rear wheel 
	Tires, air pressure 
	Battery 
	Charging the battery 
	Main fuse 
	Fuses 
	Opening the headlight mask 
	Headlight range adjustment 
	Headlight - replacing the bulbs
	Parking light - replacing the bulb
	Flasher - replacing the bulbs 
	Stop light and tail light - replacing the bulb
	Cooling system 
	Checking the cooling liquid level
	Cleaning of air filter
	Changing the original position of the clutch lever
	Checking the oil level of the hydraulic clutch
	Checking and adjusting the choke cable play
	Checking the adjustment of the hand decompression cable
	Adjust idling speed 
	Draining of float chamber of the carburetor
	Engine oil 
	Checking the engine oil level 
	Oil circuit 
	Oil and screen filter change, bleeding of the oil system
	Changing oil filter 

	TROUBLE SHOOTING
	CLEANING
	CONSERVATION FOR WINTER OPERATION
	STORAGE
	TECHNICAL DATA – ENGINE 640 DUKE II 2003
	TECHNICAL SPECIFICATIONS - C...



